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Booklet A {28 x 2 marks)
For each question from 1 lo 28, four options are glven, Qhé of them is the correct
‘answer. Make your cholce (1, 2, 3 or 4). Shade your answer on the Optical Answer
Sheel, o , — (58 marks)
1 The diagram below shows how organisms A, B, C and D are grouped.
Organisms

~ Doesitmakaits own
food?

" Does it reproduce by '
seeds?

Does it grow'on land?

Yes
D

The table below shows some characteristics of organisms X, Y and 2.
Atick { v') indicates the presence of the characteristics in the organism,

Charactgristics Orga_nism X | OrganismY | OrganismZ
has fruits

. grows on land

has chlorophyll

reproduces by spores |

Based on the information above, which organism(s) share(s) the same
characteristics as organism C?

(1) Yonly

2) XandYonly

(3) XandZonly

(4) X YandZ
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2 The graph below shows the amount of undlgested food bofore it enters
the parts of the human digestive system. Parts P, O, R and S are not
labelled in sequencs,

£

Amount of
undigested
food

P a R S
Parts of the digestive system

Which of the following correctly identifies paris P, Q, R and 87

5 * 5 < —
(1) guliet | small intestine stomach mouth_
(2) “mouth small intestine gullet stomach
3 mouth gullet | smallintestine | stomach
4y | mouth —gullet stomach | small Intestine

3 The life cycle of a plant is shown below.

TN
\seeﬁ/'

Which observations correctly describe stages C, D and E?

%) root and shoot | flower appears fruit appears
appear
2 frult appears root and shoot flower appears
appear

3 flower appears fruit appears root and shoot
| | appear

(4) fruit appears flower appears root and shoot

appear

CHS/Sc/P6/MYE/Booklet Al2022 2



4  Thagraph.below shows the time mseci}( spends at ditferent stages of
. s %ﬂ‘e :

Time

0gg adu%i ymph
Stagesin insect K’s life cycle

Which statement(s) can be cenclud‘ed from ihe graph?

A
B
c

(1)
@)
3
%

The nymph does not imk like the adult.

Insect K undergoes a three-stage life cycle.

The nymph stage Is spent in water but the adult stage 1s spenton
land.

Aonly

B only
Aand Conly
Band Conly

CHS/Sc/PBIMYE/Booklet AR2022 3



_'I?Se‘d

into a seedling.

fagram below shows the different stages of the growth of a seed

At which stage(s) can the seedling make its own food?

(1)
(2)
3
4

D only

F only

E and F only
D, Eand F

A flowering plant undergoes processes R, Sand T as shown below.,

flower

L 4

seed

RthensS

AN

adultplant ke young plant
Process R must occur before Process S.
Which are processes R, S and T?

R S T

(1) fertilisation pollinationt germination
{2) poliination germination fertilisation
3 poliination fertilisation seed dispersal
4 fertilisation poliination seed dispersal
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7 The dlagrams below show the reproductive parts of a human and plant,

\;%f

human reproductive | plant reproductive
system system .
Which statement is comrect?

(1) Ferilisation occurs inKand N.

{2) Theyoung developsinl and M,

(3) Kand M produce reproductive cells.

{4) Kand N produce male reproductive cells.

8  The diagram below shows how water and food are transported to and
from pants A, B and C of a plant.

c Key:
P <= fo0d
' Y —— - water
A B ™ frits }
LSRR T e > J
Which do A, B and C represent?

A T B T
| stem roots  Jeaves
2) roots stesn  leaves
(3) leaves roots T flowers
{4) flowers leaves stem

CHS/Sc/PEIMYE/Booklet A12022 5



9 Which of the following statement(s) about human, fish and plants fsfare
oot comect? w2 '
A The gullet and gllls are part of the respiratory system,
B Gaseous exchange happens at the lungs, gllls and slomata,
C  Blood transports carbon dloxide and oxygen In human and fish,

(1) Aonly

(2) AandBonly
{3) BandConly

(4) A, BandC

10 Which is the basic unit of life for a tree and a fish respectively?

Tree ) Fish
(M [ cellwal cell membrane
{2) nucleus nucleus
@ | chloroplast nucieus
@ [ cell cell

CHS/Sc/PMYE/Booklet AR2022 6



11 Palricla carried out an experiment to find out how the amount of carbon
dioxide taken in affects the rate of phctosynﬂ;esss in a plant,

Which of the following correclly shows the results of her expeﬁmant if she

had carried out a fair test?

Number of
bubbles per
minute

v 1

(1

, (?}

(3)
N,

Amount of carbon dioxide (cm®)

12 The lstters below represent organisms in a community and the armows
show the direction of the flow of energy.

e

B

N\

3
:

Which of the following correctly represents A, B and C in this community?

= 5 e ;
(1) plants decomposers animals
2) animals decomposers plants

(3) animals plants decomposers
4) decomposers plants animals
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13 The characleristics of environment X are isted In the table below,

Environment X
temperature ) . 3"*’3 .
light ntensity O units 10 8 units
amount of axyge:z very ﬁtﬂe '
amount of carbon dioxide h?gh '

The table below shows the chamcteﬁstics of the preferred habitats of thrée

organlsms D, E and F.

Charactenstscs cf prei’erred hab;tat
Organisms -
Temperamre Light tniensity : Air
D 16°C to 25”0 11 mts rich in oxygen
B QG"C to 30”(3 51 umts rich in carbon dioxide
F any 3unfts PoOT in oxygen
temperature + ’

Which organism(s) D, E or F can live in environment X?

(1) Donly
(2) Eonly
(3) DandFonly
{4) EandFonly

CHSISc/PEMMYEiBooklel A2022 8



14 Which diagram Is comrect?
{n

@

)

Anlma!é |

1

Plant-ealers

i

3

" |

 Animal-eaters.

4

' Predators

. Pretiatés

Prey |

| Aninia!s

T

!

Plant-ealers

|

{

. ’T“

1

| Predators

Prey

| Food
producers

Animals

—

- Animal-eaters

T

‘!

Predators |

 Prey

Predators

i

!

Prey

|

Animal-eaters

Plant-and
animal-
eaters

Plant-
ealers

Animal-eaters

 Animals

I

|

Predators

]

Prey

]

Plant-
eaters

Anlma&—eyaters

1

Plant-and
animal-
eaters

Animal-eaters

CHS/Sc/PBIMYE/Booklet A22022
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15 The food web below shows ihe fsod resaisanship amang various organisms :
in & particular commumty

G

B\

}’-—-—)*O.M

\./\

T~
/
\D

Based on the food web above, which observaﬁon is correct?

Observations
Statements True False | Notpossible
; : to tell
(1) | B and G are plants. ) v
(2) | Dis afood producer.
{3) | E does not have any p
predators feeding on it,
(4) | There are three animals which
eat both plants and animals.

16 Which statements correctly describe the structural and behavioural
adaptations of some organisms? ,

Structural adaptation Behavioural adaptation

{1) | moves slowly to avoid coils up to avoid predators
predators

(2) | uses big eyes to huntin uses big ears to hunt In
darkness darkness

(3) |lays eggs in comers to increase | lays many eggs to increase the
the chances of survival chances of survival

{4) | uses colour on its body to blend | uses twigs to decorate its shell
in with the surroundings to blend in'with the

surroundings

CHS/SIP8MYEBooklet 212022 10



17 Animal G is covered in a shell that supporis its body and ptotects fts
organs. This shell is made of material H,

shell of material H

Which property of material H allows the shell o perform the functions
described?

1)
@
@
@

strength
flexibility
waterproof
ability to float

18 Some stones were placed into a measuring cylinder as shown in the
diagram below.

Which statements best explain the change in the water level?

A
B
C

Q)
(2)
3
4

Water has a definite volume.
Stones have a definite shape.
Stones take up space in the water.
Aand B only

Aand Conly

B and C only

A, BandC

CHSISc/PEIMYE/Booklet Aj2022 "



18 Identical batteries and bulbs are used to set up the four crcuits,

1 1

'y

1

R

&

1 ]

|

@

Which of the following is comrect about the brightness of the bulbs?

{1
(2
(3

Brightness of bulb
" Low Medium High
) s | P Q
) S e R
) Q R S
) Q. P R

20 Study the water cycle.

e

water in rvers

frees

P and seas

Which of the following is correct?

)
{2)
(3)
(4)

water.vapour
B ‘:

rain

Involve a changs in state Involves heat loss
T AandB B
CandF c
A C DandE B
B,D,Eand F C

CHSISCPEMYE/Booklel /2022 12




21 Timothy lit up one end of a block.
flame |

Which of the following shows the energy changes during burning?

{1) heatenergy in block -> light energy

(2) heatenergy In flame -> fight energy + kinetic eneray

(3) potential energy in block -> heat energy + light energy
(4) potential energy in flame <> heat energy + kinetic energy

22 Petér set up an experiment as shown below. He placed the torch at

position A and the eardboard at position D.

------
: -.“
-
‘,".~
e it
Y
-
,”-ﬁ"
Cﬁ”-’*-~
-
-~-~*~.b
N
~~~~~~~~
S e e e
....
~~~~~~
t ~~~~~
Ore ]
9 ] ° ) -

At which positions should Peter place the torch and the cardboard in

order to decrease the helght of the shadow on the screen?

Position of torch ' Position of cardboard
() A | [
@) A | E
3 B D
(4) B c

CHS/Sc/PBIMYE/Bookiet AJ2022 13



23 Amy setup an experiment as shown below. She used iwo similar strong

magnets A and B. Magnet A was attached to a spring while magnet B -

was fixed 10 an electronic balance..

B.

IR

magnet A

N

S ]

T

pointer

' set-up X
Amy then moved set-up Y such that magnet A was directly above magnet

set-up Y

=======1 > electronic
2 balance

Which of the following best represents her observations?

)
(2)
(3)
(4)

Movement of pointer Reading on the balance
downwards ~ decreasss
downwards increases

upwards decreases
increaﬁes

upwards

24 The table shows the melling and boiling points of substances X and Y.

Substance X Y
-melting point (°C) 28 40
bciﬁng point (°C) 80 80
At which temperature are substances X and Y In different siates of

matter?
26°C
36°C
55°C
106G °C

(1
(2)
3)
(4)

CHSISUPE/MYE/Booklet Af2022
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He recorded his observalions in the table below.

25 Zainal wanted to Investigate how different types of material used to make
the cups affect the time taken for the Ice cubes to melt completely. He
placed the three cups X, Y and Z In a classroom, '

State of ice
Cup 20 min 40 min 60 min
X solid “soid “Tiuid
Y solid liquid “Tiquid
Z liquid Tiquid iquid

Based on his results, which statements are correct?

A Zls the best conductor of heat.

B Xis the poorest conductor of heat.

C  Yis abetter conductor of heatthan Z.
D Yis a poorer conductor of heat than X,

(1) AandBonly
(2) AandDonly
(3) BandConly
4) CandDonly

CHSISO/PBIMY E/Booklst AJ2022
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26 The diagram below shows how & swing moves from polnt A to point B and

to point C.

Which graph shows the correct changes in energy of the swing as the

swing moves from point A to point B and to point C?

M
E:3
Energy
{units) }
A B
{3)
F-3
Energy
(unitsy | _
A B

CHS/Sc/PaMYEBooklet A/2022
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~~~~~~~~ potential energy
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4
Energy
{units)
4
Energy“
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27 A baﬂ was released from the top of a ramp. The diagram shows the ball
at thrae different polnts as It rolled down the ramp.

ramp

Based on the diagram, which statements are correct?
A The ball at position L has more kinefic energy than the ball at
‘ position M.

B The ball at position K has lesser kinetic energy than the ball at
position M.

C  Theball at position M has more gravxtaizonai potential energy than
the ball at position L.

D The ball at position L has lesser gravitational potential energy than
the bali at position K.

{1) AandDonly

(2) AandConly

{3) BandDonly

{4) BandConly

CHS/Sc/PEMYE/Bookdet AI2022 17



28  Ravl placed a woodsn block on a wooden plank XY horizontally on a table
~ as shown In Dlagram 1. '

block

X 1y
Diagram 1

He raised end X of the plank slightly but the block did not move as shown
in Dlagram 2,

Diagram 2
When raised higher, the block started sliding down as shown in Diagram
3,

Diagram 3
Which statement(s) is/are correct?

A Gravitational force acted on the block in Diagram 1.
B Frictional force acted on the block when the plank was raised in

Diagram2,
G Frictlonal force acted on the block when the block was sliding down
the plank in Dlagram 3.

(1) Bonly

(2) Conly

(3) AandConly
(4) A,BandC

End of Booklet A
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. Booklet B {44 marks}

" For questlons 29 to 41, wille your answers In this booklet.
The number of marks avallable Is shawn;_m bracksts { ] at the end of sach question

or part question. . - {44 marks)

29 The diagram below shows the locallon of the young of plant H over a perlod
of six months, : o

m parent plant
of plant H

direction of

river flow o young plant

ofplantH |

{a) Slate the dispersal method of plant H. g

(b) State a characteristic of the fruit of plant H and explain how it helps in
Its dispersal as seen in the diagram, ‘ i

(Go on to the next page)

SCORE
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30 Mrs How placed two slmilar plants Inidentical flasks and put them In a sunny

area. These plants have lny openings on the leaf surfaces known as
stomata. Waler is lost through the slomala in the form of waler vapour.

She coated one side of all the leavss with oll for the plant In set-up W and
coated the other side of all the leaves with ol for the plant In set-up X,
=8, plant =Ry

cotton wool-

layer of oll Ly

- flask contalning
water

electronic
balance

| set&zp W | set-up X

The table below shows the mass of the set-ups at the beginning and at the
end of the experiment after a day.

Ma
Set-up fass {g)

Start of "experifnent End of experiment
W 80.0 ~ 85.0
X 800 50.0

(a) Based on the results above, which flask contained the plant with leaves
that were coated with oll on the underside? Explain why. 2]

{b) Mrs How. placed the same set-ups.in a dark room and noticed that the
readings were higher. Explain why. 1}

{Go on to the next page)

SCORE
3
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31 The table below shows the amount of oxygen In the alr at different halghis
"' abovethosealevel |

e ovesoalove(m) | oS DaeD SaTeBe
18.4
119
68

Q0
1000
9500

Information, what Is the relationship between the height
I and the amount of oxygen avallable In the alr? (1]

{a) Basedonthe
above sea leve

-

——

nformation, explain why someone at 8800 m above sea '
2

(b) Based on the Info lain why s 4
heart rate faster than when he is at sea level.

 levelwilihave a

R

(Go on to the next page)

SCORE
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32 The diagram below shows the stages of a seed's growth.

A B
The graph below shows the change In the mass of the seedling and its seed
leaves during the experiment,

A

Mass (g) -

Number of days

{a) State the conditions required for germination. (11

(b) Which line X or Y shows the change in the mass of the seed leaves

from stage A to stage C? Explain. X))
{c) Describe the process of photosynthesis in green plants. 1
{Go on o the next page)
SCORE 3
CHS/Sc/Pe/MYE/Bocklst Br2022 4




33 Mangrove trees are found In muddy swamps where there are frequent’
rough tides and strong winds. - _ , ‘ :

mangrove
tree

{a) The mangrove trees have roots that are widespread as shown in the
diagram above, How do the widespread roots help the trees to survive
the frequent rough tides and strong 'winds in its environment? 1]

The seed of a mangrove tree germinates into a young plant while it Is still
attached o the parent plant as shown Inthe diagram below. ‘

parent plant

young plant

{Go onto the next page)

. SCORE |
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Conlinue from Question 33

Tﬁe- diagram below shows what happens lo the young plant during

dispersal,
2 N
{{ *\xgg‘\: . s
E{ﬁ‘?”” L ~ Young plant reaches
iﬁi;?a«% Youngplant ~ Young plantgets area with suitable k
i~ ¥ drops carried away by conditions for growth ‘
| | from parent tide |
et =1 /1)
Young plant grows
roots and shools
quickly
(b) Based on the diagram, suggest two benefits of the seed germinating
while it Is still attached to the parent plant. 2]
Suggestion 1:
Suggestion 2;
~- 0
(Go on to the next page)
SCORE )
CHS/Se/PSIMYE/Booklet 812022 8




34 The food web below shows the food relationships among nrganisms ina
ha tal,.

rabbil —  liger

sheep

The diagram below shows the jawbone of animal Q.

(a) Based on your observation of the jawbons, add animal Q in the food
" webabove, 1]

(b) Organism Rwhich feeds on rabbits are introduced to the habitat above.
- Explafn how the addition of organism R will affect the population of the

{Go on to the next page)
SCORE
3
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Contlnue from Question 34

A tiger has stripes on its body that helps it to prey on shesp, -

tall grass  —

(¢) Basedon the information, state the type of adaptation and explain how

it helps the tiger to prey on sheep. 2]
{Go on to the next page)
SCORE )
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35 Sarah designed a toy system as shown,

When both metal wheels on the toy car wera In contact with the metal pins
‘near iron. rod A, the 1oy car would move towards Iron rod B. When both
‘Wheels on the toy car touched the metal pins near iron rod B, the car would
then move towards lron rod A agaln.

The toy car was able to move on the plastic track back and forth
continuously onits own. o

AANAANAN [ ADAADADNANA

LU

G VAVAYAVAVAVAVAVAY,

iThvvie o

]
P

(a) State a physical property of the metal.wheel that makes 1 suitable for
use as the wheels of the toy car in the system above. i1

{b) Explain how the toy car was able to move from iron rod A to B on its
- own. 2]

(Go on to the next page)

~ SCORE
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36 Faizah wanted to investigate how the distance between the material and
the light source affects the amount of light reflected by the material, He sst
up an experiment in a:complelely dark room as shown. .

light material

source

adcm

N
et

He varied the distance, d and recorded his results in the table below.

i}istaﬁf;é, d Amount of light reflected (units)
(m) Material W Material X Material Y
2 340 100 190
3 300 90 130
4 200 60 80 .

(8} Inthe set-up above, mark "X’ on the wall to show where Faizah should
place the light sensor to measure the amount of light reflected by the
material, 1

{b) Suggest a reason why using the light sensor to measure the amount ,
of light reflected by the material would improve the investigation. []

The diagram below shows a reflective vest that a cyclist wears at night.

reflective vest

(c) Based on his results, which material is most suitable to make the vest
so that the cyclist can be seen from the furthest distance? Give a

reason, 1]
{Go on to the next page)
SCORE
3
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87 (a) State whattemperatureis, m
Ephraim filled elght identical test tubes with the same amount of water of
the same temperature. He grouped the test tubes as shown below,
| eéaps , test-tube B
testlube A ——
water - L AV
'He measured the temperature of the water in the test tubes at 5-minute
intervals and recorded the results In the table below,
_ Temperature of water (°C)
Time {min) |  Test-tube A Test-tube B
0 60 . 60
5 55 58
10 # 58
15 37 56
20 37 55
{b) State the temperature of the surroundings. 1]
{c) Explain why the temperature of the water in test-tube B is higher than
that In test-tube A after 20 minutes, (1
{Go on to the next page)
SCORE 5
CHS/St/PSIMYE/Booklet BI2022




38 Minghao conducted an experlment using the set-ups below. He added the
same amount of waler onlo four similar cloths A, 8, C and D, ’

v

80 om

The graph shows the mass of the cloth over a pericd of time,
A
Mass of cloth (g)

" Time (min)

{a) 8336& on the graph, explain how the different distances of the lamp
from the cloth affect the mass of the cloth. 21

(b) Based on the graph, which variable, light or wind, has a smaller effect

on the mass of the cloth? Give a reason for your answer, 1
(Go on to the nexi page)
SCORE
3
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39 ‘Bulbs B1, B2 and B3, and swilches 81, 52 and S3 were connec{ed ina
circuit as showa. All ihe bulbs are wmk!ng properly.

Ditferent bulbs lit up when different switches were open and closed.

B3 B%Q s @S’i
- $1
ssi\ N
T 52
(a) Complete the table by filling in the four blanks below. 2
Switches Did the bulb light up?
$1 §2 s3 Bi | B2 | B3
closed open c?osed {i no | no
open closed | closed no no | i)
closed closed open yes | () o
(iv) closed open yes ves no
(Go on to the next page)
SCORE
2
CHS/Sc/PSMYE/Booklet B/2022 13



Continve from Question 39

Four rods A, B, C and D of different materials wefe connected In another
circuit as shown below.

The table below shows what happened when the switch was closed and
certain rod(s) was/were removed.

Rod(s) removed from Did the bulb light
~ clrcuit up?

A | yes

Band C - yes

A,Band G no
ACandD | " no

(b) Based on the information, what can you conclude about rods A, B, C
and D? (2]

{Go on 1o the next page)

SCORE
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40 Ahmad conducted an experiment using the set-up below. He poured
substance w ontc tha surfaca of the table, He ihen added sloﬁed mass until

wopden
block

\\R\\\N\‘&.\\‘M\\\k&\\\\\\%\\

slotted

substance W - ..
- mass

~ Ahmad repeated the experiment with the same blogk but with different
substances X, Y and Z His results are shown in the table below.

Substance | Mass requiregl?cr%#”iﬁe wooden |
w 180
X 180
Y 250
pA 90
(a) Statethe force(s) that caused the block to move across the table. [1]

(b) State two variables he needed to keep constant for the experiment, i)

-

CHSISc/PS/MYE/Bookiet B/2022
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SCORE

15




Continue from Questlon 40
Abmad played a game with his friends, He used his fingers to fick the disc

atthe starting line forcing the disc to fall Into any of tha four corner pockets

of the board:
gei applied a substance onlo the surface of the board before flicking his
sC,

disc A

(c) Based on the results, which substance W, X, Y and Z s most suitable
to be applied on the board to help the disc move the furthest across
the board? Explain your answer. ]

When Ahmad applied a substance on the board, he noticed disc B
moved further after being hit by disc A.

(d) Explain how .applying the substance on the bcafd allowed disc B 1o
move further. 1

(e) Explain in terms of energy changes why disc B was able to move ;
further after being hit by disc A. 1

{Go on to the next page)

SCORE
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41 Aninflated baitoon was glued ﬁrmty to iha straw as shown at point X. When

the air was released, the balloon moved forward. At point Y, all the air

escaped from the balloon but it continued 1o move forward and fi naﬂy
stopped at point Z.

st

rubber balloon
band :

{a} Giva a reason why the bal;oon continued to move from poini Y to point
Z even when no more air was reieased

[
(b) Explain why thes balloon finally stopped at point Z. M
{¢) Using the same set-up. suggest a way fo maka the balloon move
further than point Z. Explain your answer. 2]

End of Booklet B

SCORE 1
CHS/Sc/PBAMYEIBooklet Bf2022 17 :




Catholic High School

P6 Science Mid Year

Answer Key
1. (?) 11. (1) 16.(4) - 21.(3) 26. (1)
(Missing ticks) '
2. (2) 12. (3) 17. (1) | 22. (2) 27.(2)
13. (2) 18. (2) [ 23.(a) 28. (4)
14. (3) 19.(2) 24.(2)
15.2 or4 20. (1) 25. (1)
(Missing ticks)

~Fouchthe stomata. Since more stomata_is found on the underside of
the leaves, melf=BtelukieRre blocked, the flask in Set-up W has the plant with leaves coated

with oil on the ugderside.

In the dark ra ut light, the leaves will not take in water for photosynthesis and less
water will bejlsEt tiIfseh the stomata.

As the hmgha level increases, the amount of oxvgen available in the air decreases.

More m pets at

e
When a peggenis at 8800m above sea level, there is less amount of oxygen available in the

air compflfRGE:t sea level. His heart will have to pump faster for blood gontaining digested
food, o yger&mu. er through the blood vessels faster to all parts of his body to receive the

for respiration to release the same amount of energy for his body.

ave a faster heart rate.

Thus, he wull

mrmth
Y. The mm.eaves will decrease as the stored food is being used up by the seedling

SuggestiPHRILER-Elfpinating seed can stay with the parent plant for a longer period of time
to allow [j&itel develop bigger and ensure a greater chance of successful water dispersal.




34 a.

Q

Plant — rabbit — tiger

N

sheep
b. | With the introduction of R, the population of rabbits will decrease as R feeds on more
" | rabbits. Tigers would have lesser rabbits to feed on and will feed on more sheep. Thus, the
population of sheep will decrease.

c. | Structural adaptation. The stripes on the tiger’s body helps it to camouflage and blend in with
the tall grass so it will not be spotted easily by the sheep, for it to prey on the sheep more
easily.

35 a. | Electrical Conductor

b. | When both wheels on the toy car touched the metal pins near iron rod A, it formed a closed
circuit where electric current can flow through the wire and iron rod A becomes an
electromagnet. The like poles of iron rod A and the bar magnet facing each other will repel as
like poles repel and the toy car would move towards iron rod B.

36a. ight materiol
source
~V
A
wall—] dem
Anywhere along the wall between the light source and the ground is acceptable.

b. | Using the light sensor, the amount of light that is reflected from the material to the wall can
be measured more accurately.

¢. | Material W. W is able to reflect the most amount of light from the car headlights so that the
cyclist can be seen from the furthest distance and be spotted most easily by drivers at night
to ensure that the cyclist will be safe on the road.

37 a. | Temperature is the measurement of how hot or cold something is.

b..| 37°C

c. | Test-tube B is surrounded by other test tubes filled with water of the same temperature thus
it has lesser surface area in contact with the surrounding air and lost less heat to the
surrounding air compared to the water in test-tube A.

38 a. | By comparing set-ups A and B, A is nearer to the lamp than B. A gains more heat from the
lamp and has a higher rate of evaporation of water. With less water on A, the mass of the
loth A d : ! iod of ti

b. | Wind. By comparing set-ups B and D, D that is exposed to wind had more mass on its cloth
when compared to B exposed to light at the same distance of 60 cm. Thus, wind has a smaller
effect than light on the rate of evaporation of water in the cloth. (can also compare C and A)

39a. | {i)yes {ii)no (iii}yes (iv)closed

b. | B.and D are electrical insulators / not conductors of electricity. A and C are electrical
conductors/conductors of electricity.

40 a. | Gravitational force
b. | Mass of the wooden block

Amount of substance applied to the table.




Z. When substance Z was applied to the surface, it can reduce the most friction between the

c.
block and the surface and least mass was required to move the wooden block across the
table. Thus, Z is most suitable to be applied on the board to help the disc move the furthest
across the board.

d. | Applying the substance on the board would reduce friction between disc B and the board,

| and allowed disc B to move further after being hit.

e. | After disc B was being hit by disc A, the same amount of kinetic energy of disc A was
transferred to more kineétic energy of disc B and converted to less heat energy. With more
kinetic energy in B, it moved further.

41 a. | The balloon still has kinetic energy in it, allowing it to move from point Y to Z even when no
air was released.

b. | When all the kinetic energy of the balloon is converted to heat energy and sound energy, the
balloon stops moving.

¢. | Inflate the balloon bigger. More elastic potential energy of the stretched balloon is converted

to more kinetic energy in the balloon. With more kinetic energy, the balloon moved further.









